Substitution Memory

1. Give each set of partners 20 index cards.

2. Have them write the following problems on 10 cards.

2x + 3y = 5


x = 2y – 3 


x = -2y + 2

x = 5y + 9


4x – 5y = -3

7x – 3y = -20


3x + 2y = 6


y = x  – 17 


3x + 2y = 10


y = -2x + 2


3x + y = -17

y = 2x – 9 


x = -3y – 2


y = 3x – 7 


x = 2 – 2y 


-4x – 5y = 8

5x = 2y + 12

4y = -3x – 4


x = -4


2x + y = -10

3. Have them write the following answers on 10 cards.

(4, -1)


(3, 3)



(-2, 2)

(-2, 6)


(0, -17)


(4, -1)


(-2, 0)


(2, -1)


(-8, 5)


(-4, -2)

4. Place all cards upside down in two separate piles: 10 questions and 10 answers.  

5. Partner A flips over one question card.  Both partners work out the problem.  When they have reached an answer, have them flip over 1 answer card.

6. If the answer matches the problem, Partner A keeps the two cards and flips over another problem card.  His/her turn continues.

7. If the answer does not match the problem, turn the two cards back over.  Partner B then flips over a different question card and repeats step 5.

8. Continue until all cards are paired up.

